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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

It's an -—-—-—--— to their friends as to why the couple broke up because they seem
perfect for each other.

1) interference 2) inference 3) alteration 4) enigma

Mr. Baker has decided to move to a big city because of a -----eeeee~ of employment
opportunities in his small hometown.

1) demonstration 2) foundation 3) trace 4) dearth

Do you know of an alternate route we could take to -------—--— having to drive through
the city?

1) circumvent 2) delight in 3) partake of 4) suggest

My political science professor presents her lectures in a relaxed manner using -—---------—
rather than elaborate language.

1) loquacious 2) colloquial 3) literary 4) inflated

My uncle, a farmer, is an --—---eeev pessimist when he discusses the weather. For

example, if the sun is shining, he's sure a drought is beginning; if it’s raining, he’s sure
his crops will be washed away.

1) initial 2) instant 3) immutable 4) interactive
The pharmaceutical company had to ----eeeeeee= its advertising claim regarding the
healing power of its new arthritis medicine because research studies clearly indicate the
medicine isn’t effective.

1) repudiate 2) enhance 3) distribute 4) replicate
I would like to compliment Jaden for the course of action he recommended because |
think it will -=====—-—-- our problem once and for all.

1) sequence 2) speculate 3) signify 4) settle
D N I — is often expressed as a simile, as in “The football game was like a battle
between gladiators.”

1) endeavor 2) invasion 3) analogy 4) arena
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9-  There are many good reasons for not smoking, but those having to do with health are

the most %
1) passionate 2) cogent 3) paradoxical 4) accidental
10- -——--—-—- therapy is a psychological approach designed to help individuals change
harmful thought patterns to more constructive ones.
1) Inherent 2) Thoughtful 3) Cognitive 4) Epidemiological

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The earliest human artifacts showing evidence of workmanship with an artistic
purpose (11) ==-eemeemen the subject of some debate. It is clear that such workmanship
existed some 40,000 years ago in the Upper Paleolithic era, (12) -==-==nmv-- it is quite
possible that it began earlier. In September 2018, scientists (13) ------renmm- the
discovery of (14) —==eemmeeeen by Homo sapiens, which is estimated to be 73.000 years
old. much earlier than the 43.000-year-old artifacts (15) --=--=------ to be the earliest
known modern human drawings found previously.

11- 1)are 2)is 3) has been 4) was
12- 1)as 2) when 3) since 4) although
13- 1) who reported 2) reported 3) having reported  4) to report
14- 1) known drawing the earliest 2) the earliest drawing was known
3) the earliest known drawing 4) known as the earliest drawing
15- 1) that understand 2) understood
3) were understood 4) they are understood

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Frances Miley of the University of New South Wales and Andrew Read of the
University of Canberra, Australia, point out that recruitment advertising by the
professional accounting bodies often portrays the jobs on offer as befitting an
“ambitious person who seeks an exciting and rewarding career.” In stark contrast, the
stereotype of the ideal accountant is one of a dull and boring person focused only on
counting the beans and having a keen eye for detail but few social skills. “These views
seem to be at opposite ends of the spectrum,” the team reports. Research into career
choices suggests that most would-be accountants see the substantial financial rewards
expected of this career as being attractive and that students often believe the stereotype
to be accurate.
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16-

17-

18-

19-

20-

The researchers have investigated the role of stereotypes in “commedia dell’arte.” a
form of improvisational theatre developed in 15th century Italy. This performance art
form exploits stock characters based on the common stereotypes of the day and as the
team suggests, it serves a useful purpose through the encoded information of the
stereotypes portrayed.

The team contends that, “if the recruitment advertising by the accounting
profession is successful in changing the stereotype of the accountant that has long been
entrenched in popular culture, instead of being beneficial to the accounting profession,
it would be deleterious. Hence, there is benefit in the accounting profession trying to
maintain the stereotype.” The team concludes that there is also something sinister
about the retention of stereotypes and how it would not serve the profession for anyone
to attempt to change that stereotype. which would most likely prove impossible
regardless. They suggest that, “Although there is a constructed and mythical view of
the accountant, the stercotype allows the accounting profession to maintain its
exclusivity and accountants to hide their power.”

What is the best title for the passage?

1) Accounting Profession: Not On the Beam

2) Different Recruitment Advertising Stereotypes

3) Theoretical Issues of Pursuing a Professional Career

4) Changing Stereotypes of the Accountant

According to the research group, all of the following are true of the accounting

profession EXCEPT that —--—e-eeeev,

1) accounting is considered as a lucrative job among most aspirants

2) the essays to change the accounting stereotypes do not necessarily benefit the profession

3) stereotypes entrenched in popular culture would not provide professional stability

4) there is almost no compliance between stereotypical characteristics of accountants
and the advertized ones

The author refers to the words “commedia dell’arte” in paragraph 2 to ——-—-—--,

1) suggest what is later elaborated on in the next paragraph

2) explain how stereotypes were portrayed in the 15" century

3) imply the current attitudes regarding the accounting career

4) compare the differences between the contemporary and past stereotypes

The word “mythical” in paragraph 3 is closest in meaning to

1) cynical 2) genuine 3) hard-line 4) imaginary

Which of the following methods has been used by the author to develop the points in the
passage?

1) Quotation 2) Humor 3) Contrast 4) Classification
PASSAGE 2:

“Imagine finding a free ticket to an outdoor concert after spending hours searching
for it on the Internet. Just before the show tonight, you find out about a thunderstorm
warning. Will you go?” According to the authors, you're more likely to go if you spent
those hours today rather than yesterday. But if you spent money on the ticket, when
you spent it doesn’t matter.
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21-

22-

23-

24-

“We introduce the notion that costs and benefits can occur either in the same
‘accounting period” or in different periods. and propose that accounting periods
influence the tracking of temporal, but not monetary costs,” the authors write. In three
experiments the authors examined accounting periods with students in a laboratory,
consumers from an online panel, and movie theater patrons. In the movie study, 400
patrons spent either time or money during the summer. In return. they received a
movie ticket they could use either later in the summer or in the fall season.

“The season mattered when people had spent time — they were more likely to
return to watch a movie when they had a summer ticket rather than a fall ticket.” the
authors write. “The season did not matter when people had spent money — movie
attendance for the two seasons was similar.” These results are important for marketers
trying to understand how consumers think about money and time. In the minds of
consumers. the authors explain. “Today’s expired time cannot be recouped by
tomorrow’s time and today’s spare time cannot be added to tomorrow’s time.”

On the other hand. if someone spends too much money one day, she can maintain a
desired state of wealth by spending less the next. “As such. people are likely to keep
an account of monetary costs, not only during the accounting period in which they are
incurred, but also in subsequent periods.™

The passage primarily serves to —--------— i

1) contradict a common assumption

2) present the findings of a study

3) discuss a notion and introduce its benefits

4) challenge the effect of time on monetary costs

It could be inferred from the passage that “accounting periods” are important
because ~------me- A

1) they are considered as economic terms, unless stated otherwise

2) investors can compare the results of time periods which are not sequential

3) it is not possible to use the notion for time as well as money in different settings
4) purposeful marketing can be improved by exploiting people’s conception of time

and money
The word “recouped” in paragraph 3 means -- .
1) retrieved 2) deprived 3) penalized 4) remarked

According to the passage, which of the following is NOT true?

1) Consumers do not track their time differently from the way they do for their money.

2) People can control the amount of their expenditure by keeping track of their costs.

3) Those movie patrons who spent some money were likely to use their free ticket in
either season.

4) The participants of the study were examined based on their response to accounting

periods.
Which of the following best describes the author’s tone?
1) Absurd 2) Admiring 3) Scholarly 4) Pretentious
PASSAGE 3:

To improve the quality of accounting, which improves the flow of capital to the
right places in the economy and facilitates economic growth. you must have an
environment that includes scrutiny by corporate regulators and independent auditors.
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The auditor’s job is to be the local policeman on the beat, making sure people aren’t
crossing the line. We need those cops to help good people stay good.

There is a movement toward adopting International Financial Reporting Standards
(IFRS). The goal of implementing the IFRS is to establish a single set of globally
accepted accounting standards. The concept is rapidly gaining support by key groups
such as the Securities and Exchange Commission (SEC) and the World Bank. IFRS
are now used for public reporting purposes in more than 100 countries. According to
financial services firm Deloitte and Touche. by 2020 almost every country, including
the United States. will be using IFRS.

On the one hand, some SEC representatives think that because people are using
these standards, their financial reports are going to be of good quality, but not
necessarily. [FRS, in principle, are a good idea but the only thing being adopted are the
standards themselves. We don’t know how well those standards are being
implemented: that’s a function of the auditor looking over the company’s shoulder to
see if they are dotting the *i”s and crossing the “t’s.

In countries that have stronger investor protection. the quality of reporting is
improved. The quality of accounting reports is as much a function of the auditors’
incentives to do a good job as it is the adoption of standards. Auditors have stronger
incentives to do rigorous audits in countries like the United States where they will be
more severely punished if they fail to perform at an exacting level. One result of
implementing global accounting standards is increased investment in global capital.
Transparent and regulated financial reporting facilitates global capital flow which, in
turn, vields increased confidence in the economy.

The author mentions the “local policeman™ in paragraph 1 in order to -------—-- .

1) begin the discussion of accounting with an example

2) trace the origin of auditors” job in accounting practices

3) show that state police responsibilities are different from those of local policemen
4) better illustrate the nature of an auditor’s job

What does the author mean by “dotting the ‘i’s and crossing the ‘t’s” in paragraph 3?
1) Paying a great deal of attention to the details of something

2) Doing something poorly in order to save time or money

3) Starting doing something without any hesitation

4) Stopping work on something

According to the passage, what does NOT lead to a better quality of reporting?

1) Adopting standards 2) Auditors” incentives
3) Stronger auditor protection 4) Severe punishments
According to the passage, all of the following are true EXCEPT that —--—eeeeee,

1) implementing IFRS does not certainly result in high quality financial reports

2) strict audits are not as important as a country’s accounting standards

3) the quality of reporting has impacts on the economy of countries

4) international accounting standards can help boost the countries® wealth

Which of the following best describes the relation of the first paragraph to the passage
as a whole?

1) It presents a notion to be questioned.

2) It advances an argument to be discussed.

3) It makes an assertion and outlines a procedure.

4) It highlights the importance of the flow of the global capital.
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